
Question # 82166 

What is the pressure (in millimeters of mercury) inside a container of a gas connected to an open-
end manometer filled with hexane (density = 0.6500 g/cm3) when the level in the arm connected 
to the container is 648.4 mm in height lower than the level in the arm open to the atmosphere? 
Atmospheric pressure is 754.6 mm Hg and the density of mercury is 13.546 g/mL.  
 
 

Answer: 

The pressure inside a container of gas is 785.7 mm Hg. 

The pressure (in millimeters of mercury) inside a container of gas  is: 

𝑃𝑃𝑎𝑎 = 𝑃𝑃𝑂𝑂 + ℎℎ𝑒𝑒𝑒𝑒 ∗
𝜌𝜌ℎ𝑒𝑒𝑒𝑒
𝜌𝜌𝐻𝐻𝐻𝐻

= 754.6 + 648.4 ∗
0.6500
13.546

= 785.7 𝑚𝑚𝑚𝑚 
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